
8 . ¥ = 1 ¥
1 2 k = Z u (X-6)

8 X = 1 2 0

× = 1 5 c m

-

9 . DE 1 -2-25+10-212=20

då = f-2 - 4 f t (0+25=40

d j = G - 41412+212=20

a ) di-_då ⇒ 141=11,1 ⇒ l i k b e n t1 -b) d i t då--d j ⇒ rätvinklig



10. L K A B ⇒

u = x latternatvinklar)

✓ = y latternatvinklar) |u t Z t v = 1800 (en halvcirkel) ⇒

V i n k e l s u mm a n Xty-17=1800

-
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D E = ×
A
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5 - x C
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I 1 5

1 5× = 10115-X)

2 5 × = 1 5 0
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13.

{ = × ( a l t e r n a t v i n k l a r ) ⇒ v . 2 x

!



1 7 .
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2 o N - A
2 3 3 5 - 2 0 0 0

×="3}j3
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18. B
2 4 . 9 = 2 X . × = 3

× = #

B D = 3 × = 3 HOST = 3 ✓3 6 T = 3 . 6 # = 1 8 6 c m

!



1 9 .

1 på+ P j = 912

| Py= 210×+14
⇒

P j + ( 2 k t I4 )"= 912

513ft 5 6 1 k t 142=912

på + 5¥P× - 1 6 1 7 = 0

p×=-2¥±

!! !

5 =-III ,2¥ = 3 5

-


